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Read the following instructions carefully and follow :

General Instructions :

(1) The question paper consists of two Sections.

(i) Section — A is compulsory for all.

(ii1) Section — B shall be attempted as per the chosen wing.

(iv) All questions are compulsory. However, internal choices are given.
(v) The paper consists of 1, 2, 4 and 6 mark(s) questions.

(vi) The answer to 2 mark questions should not exceed 50 words.

(vii) The answer to 4 mark questions should not exceed 150 words.

(viit) The answer to 6 mark questions should not exceed 250 words.

SECTION - A (49)
(Comman Subject)
1. Choose the correct answer.

(1) Which of the following leader had founded Indian National Army ? 1
(a) Lala Lajpat Rai (b) Subhash Chandra Bose
(¢) dJawaharlal Nehru (d) Bhagat Singh

(11) Static drill does not need : 1
(a) Arms (b) Instructor
(c) Band (d) Marching

OR

Which of the following term is the Hindi translation of ‘Mark Time’,
drill word of command ? 1
(a) Tol Shastra (b) Line Ban
(c) Salami Shastra (d) Kadam Taal

(i11) Assertion (A) : On receiving word of command ‘Dahine Dekh’, all
officer in contingent salute and remainder turn their heads to
the right. 1

Reasoning (R) : However, the guide looks to his/her front and
marches on to keep direction.

(a) Both (A) and (R) are true and (R) is correct explanation of (A).

(b) Both (A) and (R) are true and (R) is not correct explanation of
A).

(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.
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What is the effective range of the -7.62 mm SLR ? 1
(a) 500 yards (b) 300 yards
(¢) 600 yards (d) 800 yards
As weapon instructor, which exercise would you make your cadets do for

practicing action of index finger ? 1
(a) Trigger operation exercise No. 3
(b) Trigger operation exercise No. 4
(¢) Trigger operation exercise No. 1

(d) Trigger operation exercise No. 5

(vi) What do you mean by “Turning a Shot” ? 1
(a) Take strong hold
(b) To fire the first round after taking aim
(¢) Take correct position
(d) Have a correct aim

(vii) Select the appropriate fire extinguisher for fighting fire on an electrical
panel ? 1
(a) Soda acid (b) Foam type
(c) Water (d) Carbon dioxide

(viii) The drugs which alter perception are called : 1
(a) Hallucinogens (b) Painkillers
(¢) Depressants (d) Stimulants

(ix) Assertion (A) : The problem of drug addiction is closely associated with

families having domestic problems, such as separation of parents. 1

Reasoning (R) : Seventy eight percent drug addicts come from the
families with domestic problems.

(a) Both (A) and (R) are true and (R) is correct explanation of (A).

(b) Both (A) and (R) are true and (R) is not correct explanation of (A).
(¢) (A)is true, but (R) is false.

(d) (A) is false, but (R) is true.
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(xi)

[E] . [u]
So
Frfergerefta ga @ T e o iR e = S dehar 2
(a) BHEHL
(b) FO TT@H
(¢) 30 fire o ferw 100 ferft Bfcrag ot 3aTa =

(d) T o= ST TRt R |

AU
fr=fafiga & @ F 91 “awd gfshar G 9eg ® ?
(@) O) wa
(c) BRRM S B (d) giEra grefam

frefafga i a P ca s w FROT ST B ?
(a) TFhTIHR WIS o1 3T T (b)  fererfim C 3R D i st
(c) TUEqE Wy (A S mft

(xii) TR % G&Y H o i i o @1 Widag 8 ?

(a) a1 i I B =R | (b) T HITIT 25 T T AR |
() TAHITC1I5ACHATGAR | (d) BATHITG 20 AT HT T |

(xiii) sferfeeam Tl e R 2

(a) e faferea fafyr (b) HaEE HI =
() TJIdrA (d) Teh FATSEaT Ttk
ITTC ! Tgeht 1l FEu T Te1 o I

()

H1q gcg o 1 T fafre srafy o R wfa g Sifad S W A g0 6t
AT o ®9 H GG fohaT a1 8 | 9RA & (SR SFRa o STER o¥ § 71 Jcg
T Y WUl T g <l T B | SATehel h STTAR WA H HIg Yo & | shideh i
2014-2016 & 130, 2015-17 & 122, 2016-18 ® 113, 2017-19 § 103 3R
2018-20 H 97 T HI AT B |

3Td: 9RA = TP wree ifd o1 ufa e Sifeaa S ™ 100 @ 9 °91g 99
o1 TEAT T 18T ITed hL forn 8 37 dad T «1ed (Sustainable Development
Goal) ¥fd @@ Sfifad S T 70 & 8 HIJ G %1 &A1 1 A&d 99 2030 T
YT S o ST ST & |

IS IR TAT, B (19), HEWY (33), THTHT (43), 7Y T (45),
AT (54), IR@UE (56), ToRIT (57), 3R HHTesh (69) o It & Fad fareh
e ITed L fea & |

2014 % 91¢ ¥, TF @ fave o qgd, e 9 71g 907 1 0 &
% 70 gorw 71 3T Faeia SR JaT IGH HiH & o TR Seed A1
o 373 TROTH 919 3T R |
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(x) Water from unreliable source can be made fit for consumption after :

(a) Filtering

(b) Keeping it for some time

(¢) Boiling for 30 min at 100 degree Celsius
(d) Can be consumed straight away.

OR
Which of the following the ‘Schaefer’s Method’ is associated with ?
(a) Artificial respiration (b) Drill
(¢c) Weapon firing (d) Safe driving

(xi) Which of the following causes dental decay ?
(a) Excessive consumption of sugary food
(b) Deficiency of vitamin C and D
(¢) Poor oral health
(d) All of the above
(xi1)) What are the wind speed restrictions with regards to parasailing ?
(a) Wind velocity should be zero.
(b) Wind velocity should not be more than 25 knot.
(¢) Wind velocity should not be more than 15 knot.
(d) Wind velocity should not be less than 20 knot.
(xi11) ‘Egyptian Bridging’ is a kind of
(a) First aid method (b) Drill movement
(¢) Dance rhythm (d) Rock climbing technique

Read the paragraph and answer the questions given below :

(a) The Maternal Mortality Ratio (MMR) is defined as the number of

maternal deaths during a given time period per lakh live births. As
per the Registrar General of India a significant decline in the MMR
has been achieved in the country. As per the statistics India has
witnessed a progressive reduction in MMR from 130 in 2014-2016,
122 in 2015-17, 113 in 2016-18, 103 in 2017-19 and to 97 in 2018-20.

Thus, India has met the National Health Policy target for MMR

of less than 100 per lakh live births and is hopeful of achieving the
Sustainable Development Goal (SDG) target of MMR less than 70

per lakh live births by 2030.

Eight Indian states, Kerala (19), Maharashtra (33), Telangana
(43) Andhra Pradesh (45), Tamil Nadu (54), Jharkhand (56), Gujarat

(57) and Karnataka (69) have already achieved the SDG target.

Since 2014, under the National Health Mission, the government
healthcare schemes to provide accessible maternal and newborn
health services to minimize preventable maternal deaths have borne

results.
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(b)

;3 E

So
(i) AT Jog TR TRATE i |
(i) 99 2016-18 % G WRA H AT I X 1 off 7
(iii) WRA ¥ frg TsT A AT T A TTA HAR 7
(iv) 1 Heg & Hwey T T feehTel o1ee ol I S B 7

AT

T 1945 H Fore F=E Teeft o Aqca # f5re § oex a1l 6l TR &+t | 7" 1946
T ek Shfere fiem Wi 9 T | fem ueh 37af TR o e 3T G |
I AW T TEAE W | T Jg€ I 3T[ETE T Ueh AT TR T T3
33T, ifed gfeem o 3 Shfeme fem w1 foreg feram 3R uss gerek oot <6t wi <t |
TRA o IHETT ATS ATSHeaed 4 WA o W 3T aTfehta™ T farvoi st eh e
A I |
Q) Torea o wumE B & S Hfee fwe wra Ss T ¢
(i) hfsHe firem 3 yra & oI = weare @ ¢
(i) WRd H AT TLhR T TUTH 1T o ?
(iv) UTfeREaT st | fopem ot oft 7

1 fear, 2022 9Ra & foTw ush Agcayut fe & wifer Wi 3 SSPRRET & G20 & regern

U b1 31T 2023 H <91 H Tgefl I’ G20 Fa1371 1 R g e 3r=ifad sam |

U 36 AN (G20) T TMIET 1999 H 58 off | I8 U F-wehit o9 @ foraw

19 3 371 21l o1 e St wg I U Her wie & | G20 W S FHHTA 3% 21§

HIEE b 3T IT ¢ |

a1 fegsw, 2022 9 30 F9X, 2023 d G20 T ALFeIdT UM | G20 H 379

qoh & HoY I TTAHIIHSe % 43 TH@ — 3T A1e e 1 73 feeeft o fmew e |

9T T | YR o G20 YESH 1 fowa “agda S’ a1 “Us gedt - Uk IiE - T
ias” 2 | WRA G20 NfaffRe 3R Hgami 1 YRa %1 Sey Srepiae forEd faa™ %

@

for 231 Wt es 50 9 37feres B H 200 & 37k I3k bl AT hUT |

<M T S IF 1 &1 T G20 T U B 7

() 9Rd % G20 IS w1 foma = g ?
(i) WA ¥ G20 hT AT fhEd UguT hl 7
(iv) G20 I TIToHT e g8 off ?

-9 HRYHIM T TGN Afgd THATST |
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(1) Define the Maternal Mortality Ratio.
(11) What was the Maternal Mortality Ratio during the year 2016-18 ?
(111) Which state in India has the lowest MMR ?
(iv) In relation to MMR, what is the Sustainable Development
Goal’s target ?
OR
(b) In 1945, the Labour Party formed government in Britain, headed by
Clement Richard Attlee. A Cabinet Mission was sent to India in
March 1946, which proposed formation of an interim government
and convening of a Constituent Assembly. An interim government
headed by Jawaharlal Nehru was formed, but the Muslim League
opposed the Cabinet Mission and demanded a separate state. Lord
Mountbatten, the Viceroy of India presented a plan for the division of
India into India and Pakistan.
(1) Who was the Prime Minister of Britain when the Cabinet
Mission was sent to India ?
(i) What did the Cabinet Mission propose for India ?

(ii1) Who was the Prime Minister of the interim government in India ?
(iv) Who had demanded Pakistan ?

December 1, 2022 is an important day as India assumed the G20
Presidency from Indonesia and will convene the G20 Leaders’ Summit for
the first time in the country in 2023.

The Group of Twenty (G20) was founded in 1999. It is an inter-
governmental forum comprising 19 countries and one regional group of
countries i.e. European Union. The G20 consists of two parallel tracks: the
Finance Track and the Sherpa Track.

India holds the presidency of the G20 from December 1, 2022 to
November 30, 2023. The 43 Heads of Delegations-the largest ever in G20-
will be participating in the final New Delhi Summit in September next
year. The theme of India’s G20 presidency is “Vasudhaiva Kutumbakam”
or “One Earth. One Family. One Future”, India will host over 200
meetings in over 50 cities across the country to showcase the rich cultural
heritage of India to G20 delegates and guests.

(1) Which regional group of countries is the member of G20 ?
(i) What is the theme of India’s G20 Presidency ?

(111) From whom India assumed G20 Presidency ?

(iv) When was G20 founded ?

Explain two-way communication with example.
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O 0
S
(a) 3R 310 hicti o FepsTil sht 31 geem w wfdrfara e B | 39 3roet amat A
fopm feigat w61 wmfvre 64T ¢
T
(b) AT Teh HATHE H M hid & | Y ST 2 b HIZA! o U H AW o7 Wl 2 | AT
RS 8 S ?

(a)  form fofm-3rgara’ T ® ? 36 FTHRIF ?
GDE)
(b) ST ST 37 GaER o &9 FATE ?

3119 wrerties Tafercan § ufdifer € | areh # 31aeR! Tk 3T1eHT SR Y gretd | e @ |
31T 38 TTfieh SUER H8 & ?

(a) I Afehad U RTEATS ?
Froran
(b) Toreft wret © 3eu= B T Tafer= wepw & wyfafeferdt & 3 %= =1 fafea =t |

(a) 3AT9 Ueh TTRE [ISFET U & 371 & | 3119 THE i Hd T ?
T
(b) fors SR AT e TH-gR A HA = & 7

(@) 3R] AT I W EfR fedm heem & o 7.62 finft tswer wrfin w 1
e T g | Frafafaa & s e
() AfFFHTTRR
(i) & hee b foha-l Mife et 2
(iii) e Sfdem o @ qisfive gt ¢
(v) SfFcawrTadicy
T
(b) “‘1x1’ TIE W Y15 & T T qlhT 8 ?

T A HHTS § HATIh! T T W TNeT0r & fofw s T -5 s (Zig-Zag
balance) STHT S o T a1 & | HTh] Ig STLT ST o OIT 1 |HH =R B ?
o shid =t graeR 8 S st s wier & S gifved i 2

- Ga4 o T F9 8 ? J-AfrqTd Gl bl foasnfid w1 & fou smawes
T I == |
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(@)

(b)

(@)
)

[ =]
S
You have to train teenagers of your colony on fire safety. What points
would you include in your talk ?

OR
You work in an office. You notice a fire is starting on a stack of files.
What would you do to fight the fire ?

What is the ‘Skewed sex ratio’ ? What are its causes ?
OR

What are the forms of child exploitation and abuse ?

You are trained in first aid. You find a person in the park who is
unconscious. How would you provide him first aid ?

()
(b)

(@)
(b)
(a)

(b)

What is bio-medical waste ?

OR
Identify the various types of municipal solid waste material that is
generated in a city.

You are a guard mounting NCO. How will you mount the guard ?
OR

How Visarjan and Line Tor are different from each other ?

You have to conduct 7.62 mm Rifle Firing Course for Senior Division
cadets on the long range. Answer the following :
(1) Type of practice
(11) How many rounds a cadet would get ?
(ii1) Positon for the firing practice
(iv) HPS for the practice
OR

What is the system of scoring on a 1’ x 1’ target ?

You are asked by your battalion commander to fix a Zig-Zag balance
obstacle for training at the camp location. What stores would you need to
fix obstacle ? What are the safety precautions that you will ensure during
the obstacle course training ?

What are the forms of inter-personal relationship ? Discuss the essential
factors required for inter-personal relationship to grow.

Page 11 of 24
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feror ferwr (@)
13. @& faswea g

({) BT % T e Ul TR (AT 1) T BT T THeheT 1k TR 7
(@) A (b) FoEX
(c) -E geER (d) <ftese

FreE

T T INTciehTel 1 Hal =l ST TR I AT R 7
(a) WEER <k (b) TH 3T
(c) 3TN <5k (d) HER=H

(i) I @ B2 |
(a) A T I G ThR (b) AT T h! T bR
(c) Tl T AT &ifas TR (d) et a1 i 3T TR

42

(111)

@)

W)

5.56 Tiref) S99 Us%hal il g9 I TR ?

(@ 500 m () 300 m
(¢ 200m (d 400 m
G U 1 ferTer o foru i 91 3SR S| T BT g ?
(a) Ao b) Tergs
(c) oAtteRT fue (d) =i T3S

ANTHRYA (A) : IS B 3TN M I MATSRT 31 T Weddl & | feh

Zhd1 39 grerrdl §f fht ot ered 2 |

% (R) : U8 grefral 8 T=e1 T 311 ofe % forw 336t Wesh! 31 sentl o1 fmiy

HA R |
(@) (A) IR (R) AT FE & 3 (R), (A) F 7k AT |
(®) (A) IR (R) THI FE1 & T (R), (A) 1 eI AT 2 € |
) (A) TR, AfRT (R) Tord 2 |
) (A) 7o R, AfhT R) TR |
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SECTION - B
Specialised Subject (Army)

13. Choose the correct answer.

42

@

(i)

(i11)

@)

\

What is the equivalent rank of a Master Chief Petty Officer (Class II)
of Navy in Army ?
(a) Captain (b) Subedar
(¢) Naib Subedar (d) Lieutenant
OR
Which is the highest peace time gallantry Award of India ?
(a) Mahavir Chakra (b) Padma Bhushan
(¢) Ashok Chakra (d) Paramvir Chakra
Northing are the
(a) Black colour vertical lines
(b) Red colour wavy lines
(¢) Black colour horizontal lines
(d) Blue colour diagonal lines
Effective range of 5.56 mm INSAS Rifle is :

(a) 500 m (b) 300 m

(c) 200 m (d) 400 m

Which tool is used for striping the firing pin ?

(a) Gas plug (b) Drift tool

(¢) Locking pin (d) Blank round

Assertion (A) : The infantry is vulnerable to air attacks and

artillery shelling. It can still fight in such situations.

Reasoning (R) : The infantry prepares field defences to survive and
fight in such environment.

(a) Both (A) and (R) are true and (R) is correct explanation of (A).

(b) Both (A) and (R) are true and (R) is not correct explanation of
A).

(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

(21)
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15.

16.

17.

18.

42

A fermmset yomeft wem TR STrwETE T sfafes firmmse S goft 2, fo@ ardm
T STTEYH 3R foehra wra 3 foepfira fopan 2 | 31fR-1 v wié 9 Sfafeess fimmsa 7,
et I 700 foprft @ 31 78 1,000 ferum o1 whiess 3 (Warhead) ™ ST Hehell 2 |
AM-2 T Hifeam & i dfeafees firmsa 8, s 2,500 forl 9% a1 &) Thies N o
ST Hehelt § | 31f-3 1 I 3,500 Toret & 3 =g 1,500 fepum whiesh 3 o <7 Tehelt 2 |
IZ g ht 3Tk Afctfees fammsa 7 St 7 | 1,500 foram Thiess i < =mer, 31f-4
4,000 Tt T @& T TGN L Fehell & | 31FH-3 3R 4 seufifsue &9 At Ifafes
EEIES R

IfH-5 T IREEE dfctfees fremsa 2 | 98 1,500 fRm 1 Thies i
5,000 Tt T & 1 Tehelt & | -5 T URRT 3R AW 6 F© &A1 d Ugd Tehd! ¢ |
auft firamsel oA Thes WY o SIH A wew g | 3AfH-1 ¥ -4 fireset i &
T ISt TS o =m0 H a4 2 |
@) A Aot A geufifsue 9 6 Sfafes femd s g 2
(i) WA o ®H g1 g 31 firamget i fEba warg ¢
(iii) A frarset oreft <61 fopm draa A forepfra fopan 2 2
(iv) = =t firmmset 209 & $ fewat o1 e s gsdt 8 2

(a) wifeat sefiHt foemT =1 $fa (Indicate) Sd @o fesm 3K 3131 (Degree) & &=
FAT JTHTS EIAT 8 7
AUt
(b) | BT I TGU I aret H-ofiwar/ fafire Sam g bt gefiagey & |

forfir=t TenTt 1 Yo ST o1 SEAHT i ohl T ST&dd & 7

I TH e HUA H WA HATS & | RhI Tl H Fat-shul HIaIwATS
HEFIETH AT B 8T ] | 3719 379 wTe o1 Hrfidive & fore 38 gm & 7
(@) &Y | WA H HRE ShIfd @ T8 & | $8h A TR T shi ==t i |

Yt

(b) TH I T I FHATI h1 YT Dl | 3T b Jgo &F HI ¢@d T 37hel
1 9egaTd (Vulnerabilities) T8 ?
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14. Read the passage below and answer the questions given at the end.

15.

16.

17.

18.

42

The Agni missile system is a family of medium to inter-continental range
ballistic missiles developed by Defence Research and Development
Organisation, India. Agni-I is a short range ballistic missile having a
range of 700 km and payload capacity of 1,000 kg. Agni-II, a medium
range ballistic missile, which can carry similar payload and reach up to
2,500 km. Agni-IIT has a range of 3,500 km. It carries a warhead weighing
1,500 kg. Agni-III is considered to be a very accurate ballistic missile in
the world. With a warhead of 1,500 kg, Agni-IV can strike targets up to
4,000 km. Agni-IIT and IV are intermediate range ballistic missiles.
Agni-V is an inter-continental ballistic missile. It can carry a
warhead of 1,500 kg up to 5,000 km. Agni-V can reach entire Asia as well
as some regions in Europe. All missiles are capable of carrying a nuclear
warhead. Agni-I to Agni-IV are deployed under the control of Strategic
Forces Command of India.
(1) Which are the intermediate range ballistic missiles of the Agni
series ?
(i1) Which organization controls the Agni missiles in India ?
(111) Which organization has developed the Agni missile system ?
(iv) Which missile can target some parts of Europe ?

(a) While indicating difficult landmarks, what is the correlation between
the direction and degrees ?

OR

(b) Enlist the non-gallantry/distinguished service awards given to the
armed forces.

What is the requirement of using various section formations ?

You are a platoon commander in an infantry company. An inter-company
camouflage competition is being held in your battalion. How would you
train your platoon for the competition ?

(a) We are witnessing a computer revolution in the armed forces.
Discuss its advantages and disadvantages.

OR

(b) Enlist the capabilities of an infantry battalion. What are the
vulnerabilities of infantry in today’s battle field ?
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INS Vikrant belongs to which class of warship ?
(a) Destroyer (b) Nuclear submarine
(¢) Aircraft carrier (d) Frigate
Where is headquarters of the Southern Naval Command located ?
(a) Mumbai (b) New Delhi
(¢) Port Blair (d) Kochi
On what occasion the ship’s bell at gangway is rang eight times ?
(a) On fire (b) New year
(¢) On foreign ports (d) Before the gun salute
Which of the following is a Close in Weapon System on a warship ?
(a) 40/60 Bofors gun (b) RGB 60
(¢) 4.5inch gun (d) P22
When a National flag is flown on a warship at sea ?
(a) When the President is embarked
(b) When escorting President’s ship
(¢c) When engaged in war
(d) All of the above
OR
What is the standard unit for measuring speed in navigation ?

(a) Sea mile (b) Knot

(¢) Geographical mile (d) Kilometre
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Read the passage below and answer the question given at the end.
INS Arihant, India’s first indigenous nuclear submarine was
commissioned in August 2016. India has now joined countries like Russia,
the US, China, France and the UK who possess Nuclear Ballistic Missile
Submarines (SSBN). An SSBN can carry ballistic missiles with nuclear
warhead. India’s experience with nuclear submarines dates back to 1988
when it took and operated a submarine (INS Chakra) on lease from
erstwhile Soviet Union. INS Arihant’s design is based on Russian Akula
class submarines.
INS Arihant is a 6,000 tonne nuclear propelled submarine. It has 83
megawatt pressurised water reactor for its power requirements. It can
travel at the speed of 24 knots under the water. Being a nuclear
submarine, its range is unlimited except for food supplies. INS Arihant is
armed with four K-4 Submarine Launched Ballistic Missile (SLBM) with
a range of 3,500 km or 12 K-15 missiles with a range of 750 km. It will
carry a complement of 95-100 officers and sailors on board. An SLBM was
successfully launched from INS Arihant on October 14, 2022, thus
completing India’s nuclear triad i.e. capability of firing nuclear weapons
from land, air and sea.
(1) What is an SSBN ?
(11) What is the speed of INS Arihant ?
(i11) What is the range of K-4 SLBM ?
(1v) What do you understand by the term ‘Nuclear Triad’ ?

Enlist the possible underwater attacks that can be launched on the ships
in harbour.

(a) Explain “Zulu’ Control Marking Condition.
OR
(b) Enlist the types of steel wire ropes.

(a) What are the responsibilities of the gunnery officer ?
OR
(b) Explain how an anchor works.

Write short notes on the following :
a. Variation
b. Deviation
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With reference to aviation what would be a ‘Teardrop’ ?
(a) Leakage from the fuel tank

(b) Rain drops on the windshield

(¢) A type of jewel

(d) Shape of canopy

What is ‘contrail’ ?

(a) Airframe

(b) Frozen exhaust gases in the atmosphere
(¢) Air-to-surface missile

(d) Landing gear

Through which of the following location does the prime meridian
pass ?

(a) Istanbul (b) Ujjain

(¢) Beijing (d) Greenwich

Assertion (A) : A pilot may be allowed to fly in accordance with the
instrument flight rules in visual meteorological conditions.

Reasoning (R) : Compliance with instrument flight rules is
compulsory for the local flights exempted by air traffic control.

(a) Both (A) and (R) are true and (R) is correct explanation of (A).

(b) Both (A) and (R) are true and (R) is not correct explanation of
A).

(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

What is the SI unit of energy ?
(a) dJoule (b) Newton
() Bar (d) Watt

Page 21 of 24 PTO.



-

14. 1 feu e srg=ae i uesht 37d H feu gu Iw i & SRS

15.

16.

17.

18.

42

T TTEE HIEE FeAhIet hl T BRI J2o & A Tegd g8 Hiieh T
1Y BT 6 T I GPIAT T IS el I ASTE Felepieet 81 o1 | &7 2006 H fegeam
AT feafiee 3 elrge wirse gefiehiet (Ta it u=r) foehre o <ht speatrd i | ue =
T fegem wHiteam fafids gam M wa festea fovm mn o wielt ag-3exfia
FHT TSI, SATHI 3 |

Qe Tt dt T 1 o 2,250 fopum B 31 T 31freean 5,800 U oo ot 3
gopd1 g, T 1,750 feru gRem wnfier € | saeht sAftreraw nifa 275 forrt /=0, @ st asfi
BRI o |19 I8 500 fopHfl g T IS Wha @ | T ©l T 1 |1 & SATG1 69 9 el 1
Tg |ehdl g 3R 5,490 HeX G FW 1 Hehal 7, S o et off rerp gefiepieet & fow
gag 31fers & | T ®t v 20 i 79 % Wy 9R Tehe ssiee (Pod), fSH B T 0 12
Tehe BId & 91 3113 T e g1 & g1 § AR i areft firamse of S aehar g |

3 3TaRE, 2022 I TS H T YRR 91 841 § Smitrer foram i 31k 38 =g 9
feam o | IR BT A 3 AT ST T HUSIA b I Yol Herel H o R B |
wiers o R ST 3R R 9 1 3799 9 H ShHST: 95 3R 65 TS W U I
HaT |
() e u= T 3rierehan TTid ST Hife BRI R 7
() TS H T B T E BT W AR I ATt {HEEd of Sty ?

(iii) HRATE Jgu o S T et urff it off 7
(iv) i § Wil o &1 % e fepe Tt # w B 7

FHeATe fohE aret A1eai o a1 § "t feorft ford |

(a) agEEH e TR % wfen frean € ¢
sra
(b) HBR P Tsh o T~ TIeh 1 UM B |

(a) UTETE UREE Selt T W U gitred feoft forg |
e

(b) U gaTE W T wiere feoqofi ford |

o faifaa uieetl 1 SeH & AT RS RS ?

Page 22 of 24

e



14. Read the passage below and answer the question given at the end.

15.

16.

17.

18.

42

Requirement of a Light Combat Helicopter (LCH) was felt during the
Kargil War, as the Indian Air Force (IAF) lacked a suitable combat
helicopter capable of operating in the high-altitude. In 2006, the
Hindustan Aeronautics Limited (HAL) launched a LCH development
programme. The LCH is an indigenous multi-role, light attack helicopter
designed and manufactured by the HAL.

Its empty weight is 2,250 kg and maximum takeoff weight is 5,800 kg
including 1,750 kg of weapons. The LCH can attain a maximum speed of
275 km/h and fly up to the range of 500 km, loaded with weapons. Its
endurance is in excess of 3 hours and attains a height of 5,490 m, which is
the highest for any attack helicopter. Armed with a 20 mm cannon, LCH
can carry four rocket pods carrying 12 rockets each or eight Mistrel air-to-
air missiles.

On 3 October, 2022, the LCH was formally inducted into the IAF and
named Prachand. Indian Army has deployed its LCH near the Line of
Actual Control in the East. In future, the Indian Army and IAF will have
95 and 65 LCH respectively.

(1) What is the maximum speed and ceiling height of the LCH ?

(11) Which air-to-air missile does the LCH carry ?

(111) What short coming was noticed during the Kargil War ?

(iv) How many LCH the IAF will have in future ?

Write a short note on the clouds with vertical development.
(a) How many types of landing gear are there in aircrafts ?
OR
(b) Describe various strokes of the Four Stroke Cycle.
(a) Write a short note on Pilot Aptitude Battery Test.
OR

(b) Write a short note on pilot pressure.

What is the safety codes related to the flying of radio-controlled models ?
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